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In the CGP variant mapping table (Appendix I), for all 19746 characters, there are 3
characters with 2 PSVs, 127 with 2 PTVs, 5 with 3 PTVs and 1 with 4 PTVs, which
means, all together 136 characters have multiple preferred variant characters.
These 136 characters will generate multiple all-simplified labels or all-traditional
labels, which will lead to an over-production of allocatalbe labels issue at the
root zone level.

Original AI_Ioca_ta!bIe Allocatable Blocked
Char Simplified Traditional Vv
Variant Variant ariant

B

E F G
1, ] K
M, N O P
Input: AD Input: AH Input: HL
Allocatable: BE: CF Allocatable: BI, CJ; CK Allocatable: IM, IN, JM, JN; KO

Blocked: BF, CE Blocked: BK, ClI, CJ Blocked: -



For all 19746 chars in CGP repertoire
3 chars with Multiple Simp Mappings

« A; AB, A >> A AB, A (2)
. A;AB, C >>  AAB,C (1)

133 chars with Multiple Trad Mappings

* A;A AB >> A; A, AB (103)
- A: A BC >> A: A, BC >> A; A, B|C (23)
* A; A, ABC >> A; A, ABC >> A; A, AB|C (5)

* A;B,CD >> A; B, CD (1)

* A;A,ABCD >> A; A, ABCD (1)

All the others have only Single Simp & Trad Mapping



A: AB, A >> A: AB, A (2) A;A A (n)

Alloc Simp Alloc Trad Alloc Simp Alloc Trad

$5(5925)  F5(5925){K(4F19) $£(5925) ££4F34)  f£(4F34) ££(4F34)
£%(5925)  {k(4F19) 22(5925)
Input: B%(5925)f(4F34)
e Orig:  B5(5925)£(4F34)
o Simp:  5(5925)£(4F34), {k(4F19)1E(4F34)
« Trad:  $5(5925)f%(4F34)
Output:  B5(5925)E(4F34); #5(5925)£(4F34); B (5925)1£(4F34) = B4 (5925)1£(4F34)
B2(5925) £ (4F34); {k(4F19)E(AF34): B5(5925) £ (4F34) = B5(5925)1E(4F34)



A: AB, A >> A: AB, A (2) A; A, B

m Alloc Simp Alloc Trad Alloc Simp Alloc Trad

%(5925)  F£(5925){k(4F19) $£(5925) B(9E1F)  Z(9E1F) B (9CE5)
£%(5925)  {k(4F19) B2(5925)
Input: #%(5925)5(9E1F)
« Origq  $(5925)2(9E1F)
e Simp:  #%5(5925)5 (9E1F), {k(4F19)% (9E1F)
e Trad:  $5(5925)5(9CE5)
Output:  B%(5925)5 (9E1F); £5(5925)5 (9E1F); B5(5925)8(9CE5) = B5(5925) 2 (9E1F); #5(5925)5&(9CES)
#%(5925) 2 (9E1F); {k(4F19)5(9ELF); $5(5925)F(9CE5) = $%(5925) 5 (9E1F); $5(5925) & (9CE5); 1k (4F19)5 (9ELF);



Input:
e Orig:

e Simp:

* Trad:
Output:

Input:
* Orig:

e Simp:

* Trad:
Output:

A: AB, A >> A: AB, A (2)

m Alloc Simp Alloc Trad

%(5925)  $£(5925)1k(4F19) $(5925)

et

£%(5925)  {k(4F19) B2(5925)

~N /N /N /N /N
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=(9CEb)
E5)

5(9E1F), {k(4F19)15(9E1F)

E5)

= (9CE5); #(5925) 12 (9E1F); #5(5925) 5 (9CES)
=(9CE5); 1k(4F19)15(9E1F); B5(5925)E(9CES)
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A;B,A (n)

m Alloc Simp Alloc Trad

E(9CE5)  (9E1F) E(9CE5)
oo
B(9E1F)  B(9E1F) E5(9CEDB)

= $4(5925)5(9CE5); $(5925)5 (9E1F);
= B%£(5925) & (9CE5); {k(4F19)5 (9E1F);

= 2%(5925) 5 (9E1F); B%(5925) 5 (9CES5);{k(4F19) 5 (9ELF);




Input:
e Orig:

e Simp:

* Trad:
Output:

Input:
e Orig:

e Simp:

* Trad:
Output:

A; AB, A >> A; AB, A

m Alloc Simp Alloc Trad

22(5925){k(4F19) E5(5925)

£%(5925)  {k(4F19) B2(5925)

%(5925)$%(9435)
%(5925)$%(9435)

A;B,C

Alloc Simp Alloc Trad

#k(9244)  $k(94C1) §%,(9435)
oo
£K(94C1)  $k(94C1) #(9435)



A: AB, A >> A: AB, A (2)

m Alloc Simp Alloc Trad - AAA

$£(5925)  F%(5925)1k(4F19) %5(5925) _\/ 2 A;A B
‘ A; B, A
#5(5925)  {k(4F19) %(5925) _ A'B,C

<char cp="5925" tag="sc:Hani" ref="0 100 101 102 103 105" >
<var cp="4F19" type="simp" />
<var cp="5925" type="r-both" comment="identity" />

</char>
@ <char cp="5925" tag="sc:Hani" ref="0 100 101 102 103 105" >
<var cp="4F19" type="simp" />

<var cp="5925" type="r-both-ms" comment="identity" />
</char>

<action disp="blocked" any-variants="r-both-ms"/>
<action disp="allocatable" only-variants="trad r-trad both r-both r-both-ms">




A: AB, C >> A: AB, C (1)

m Alloc Simp Alloc Trad

Input:
e Orig:

e Simp:

* Trad:
Output:

Input:

e Orig:

* Simp:

* Trad:

Output:

BR(OEBD)  JA(9EBD)Z(4E48) PBE(9EBC)

et

BR(9EBD)  A(4E48) FX(9EBC)

$(9244)
$(9244)
$£(94C1), A (4E48)Ek(94C1)
#2(
78
(

); EE(9EBD)$k(94C1): BF (9EBC)$#;(9435)
#k(9244); A (4EA8)EK(94C1); BE(9EBC)$(9435)

JZ£(9EBD)%k(94C1)
% (9EBD)%k(94C1)
L (AE4A8)EK(94C1)
JEE (9EBC)$H;(9435)
[ (9EBD)$£(94C1): A (4E48)5K(94C1); FE(9EBC)$#(9435)

A;B,C

m Alloc Simp Alloc Trad

#5(9244)  $k(94C1) #,(9435)
oo
$K(94C1)  £k(94C1) $#,(9435)

<char cp="9EBD" tag="sc:Hani" ref="0 100 101 102" >
<var cp="4E48" type="simp" />
<var cp="bE7A" type="blocked" />
<var cp="5E85" type="blocked" />
<var cp="9EBC" type="trad" />
<var cp="9EBD" type="r-simp"” comment="identity" />

</char> C

<char cp="9EBD" tag="sc:Hani" ref="0 100 101 102" >
<var cp="4E48" type="simp" />
<var cp="5E7A" type="blocked" />
<var cp="5E85" type="blocked" />
<var cp="9EBC" type="trad" />
<var cp="9EBD" type="r-simp-m" comment="identity" />
</char>

<action disp="blocked" any-variants="r-simp-m"/>




A; A, AB >> A; A, AB (103)

AjA, B . \/ F(4E30)  F(4E30) == (4E30)22(8C50)
A; B, A
A: B, C y #F(4E30) FE(4E30) #(8C50)

<char cp="4E30" tag="sc:Hani" ref="0 100 101 102 104 105" >
<var cp="4E30" type="r-both" comment="identity" />
<var cp="8C4A" type="blocked" />
<var cp="8C50" type="trad" />

</char> <char cp="4E30" tag="sc:Hani" ref="0 100 101 102 104 105" >
<var cp="4E30" type="r-both-mt" comment="identity" />

<var cp="8C4A" type="blocked" />
<var cp="8C50" type="trad" />
</char>

<action disp="blocked" any-variants="r-both-mt"/>
<action disp="allocatable" only-variants="simp r-simp both r-both r-both-mt">




A; AB, A >> A; AB, A (2) A; A, AB >> A; A, AB (103)

Alloc Simp Alloc Trad M Alloc Simp Alloc Trad

$5(5925)  #2(5925)1k(4F19)  $£(5925) F(4E30) FE(4E30) = (4E30)(8C50)
. .
#(5925)  {k(4F19) (5925) F(4E30) F(4E30)  =(8CHO)
* Input:  $%(5925)%(4E30)
« Orig:  $5(5925)%(4E30)
o Simp:  £5(5925)3E(4E30), {k(4F19)3E(4E30)
« Trad:  $5(5925)=(4E30), #5(5925)2(8C50)
Output:  F5(5925)3F(4E30),5%5(5925)3E(4E30),85(5925) = (4E30) = $5(5925)3F (4E30)
#5(5925)3F(4E30),7%(5925)=F (4E30),%5(5925) 2 (8C50) = $%(5925)=(4E30),#%(5925)2(8C50)
B2(5925)3F (4E30),{k (4F19)3E(4E30),8%(5925)7F (4E30) = $5(5925)3F (4E30),{k (4F19)3FE(4E30)
£%(5925)3F (4E30),1k (4F19)3E(4E30),85(5925) 22 (8C50) = $5(5925)3F(4E30):{k (4F19)= (4E30),%5(5925) £ (8C50)

<action disp="blocked" any-variants=“r-both-ms"/>
<action disp="blocked" any-variants=“r-both-mt"/>
<action disp="allocatable" only-variants="simp r-simp both r-both r-both-mt">
<action disp="allocatable" only-variants="trad r-trad both r-both r-both-ms">



If A; A, AB = A; A, AB
Then A; A, ABC = A; A, ABC
A; A, BC >> A; A, BC >> A; A, B|C (23)
A; A, ABC A; A, ABC >> A; A, AB|C (5)
ErTEErTTTETTTI—
%(53D1) %(53D1) 2%(767C)82(9AEE) 52(9AEE) & (53D1) 5%(9AEE)
‘ #%(767C)  X(53D1) #%(767C)
%(53D1) %(53D1) E%(767C) | B2(9AEE)
* Input:  &(53D1)E % (53D1)E
« Origz  %(53D1)E% (53D1)E
« Simp:  %(53D1)E % (53D1)E
« Trad: #&(767C)EUEE(767C)E, #(767C)ELE(9AEE) B, ZE(OAEE)AVEE(767C)E, B (9AEE)EUE (9AEE) B
Output: % (53D1)E! % (53D1)fE, #(767C)ELEE(767C) &
&(53D1)F % (53D1) &, 35(76 7C) BV E(9AEE) & Input:  Z(9AEE)EEE(767C) &
% (53D1)F % (53D1) & 2 (9AEE)BIEE (76 7C) & . Orig: E(9AEE)EEE(767C)R
% (53D1)8 % (53D1)FE, & (9AEE) BYE(9AEE) &

. Simp: %(53D1)&%(53D1)&
. Trad: E(9AEE)EIEE(767C)R
Output: E(9AEE)EIEE(767C)E, £(53D1)E%(53D1)E Y




If A:; A, AB = A:; A, AB
Then A; A, ABC = A; A, ABC
A; A, BC >> A; A, BC >> A; A, B|C (23)
A; A, ABC A; A, ABC >> A; A, AB|C (5)
ETRETTTE ErTT—"
%(53D1) %(53D1) 2%(767C)82(9AEE) 52(9AEE) & (53D1) 5%(9AEE)

' #%(767C) R (53D1) #%(767C)
%(53D1) %(53D1) E%(767C) | B2(9AEE)

<char cp="53D1" tag="sc:Hani" ref="0 100 101 102 105" > <char cp="53D1" tag="sc:Hani" ref="0 100 101 102 105" >

<var cp="53D1" type="r-simp" comment="identity" /> <var cp="53D1" type="r-simp" comment="identity" />
<var cp="bF42" type="blocked" /> <var cp="5F42" type="blocked" />
<var cp="767A" type="blocked" /> |:> <var cp="767A" type="blocked" />
<var cp="767C" type="trad" /> <var cp="767C" type="trad-1" />
<var cp="9AEA" type="blocked" /> <var cp="9AEA" type="blocked" />
<var cp="9AEE" type="trad" /> <var cp="9AEE" type="trad-2" />
</char> </char>

<action disp="blocked" any-variants="trad-1"/>
<action disp="blocked" any-variants="trad-2"/>
<action disp="allocatable" only-variants="trad r-trad both r-both r-both-ms trad-1">
<action disp="allocatable" only-variants="trad r-trad both r-both r-both-ms trad-2">




* A;B,CD >> A: B, CD
{R(4FAD); /2 (5C3D), f&(5118)5%(76E1)

* A; A, ABCD >> A; A, ABCD
5% (8499); 52(8499), 52(8499)1%(61DE);% (6FDB)E(77C7)

<char cp="4FAD" tag="sc:Hani" ref="0 103 105" >
<var cp="4FAD" type="r-neither" comment="identity" />
<var cp="5118" type="trad" />
<var cp="5C3D" type="simp" />
<var cp="7/6E1" type="trad-m" />
</char>

<char cp="8499" tag="sc:Hani" ref="0 100 101 102 103 104 105" >
<var cp="61DE" type="trad-m" />
<var cp="6FDB" type="trad-m" />
<var cp="77C7" type="trad" />
<var cp="8499" type="r-both-mt" comment="identity" />
</char>

<action disp="blocked" any-variants="trad-m"/>
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